1/odo/dp_ [GeV]]

Ratio to ATLAS

=

T

=
<
I

1072

1073

[EEY

0.5

7000 GeV pp Z (Drell-Yan)
_I I | I I I T T 11 | I I I T T 11 I I ]
— pT(Z) (electron channel, dressed) —
= - E
- e i\i\! -
I "l! —
= LA -
— | -
— !& _
- !\ —
= !\ =
— .4 -
- . _
= m\ =
- m ATLAS N
| --3-- Herwig 7.2.0 default AN
E ----- ¢ Sherpa 2.2.8 default C E
= 1 - H] ———+H I
- ¥ -
B | o ELLER O R AT

» )
Te! WQ\ EFI;HI{ [z]a 4 K _|
B W fﬁ ‘.‘.‘;.. ,-;'}'/ y
N < |
| L L oo | L L oo |
1 10

"D (ee) [GeV)

Rivet 3.1.0, = 5.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


